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CIRCLE

1. Point O is the centre of a circle . Line a and
line b are

parallel tangents to the circle at P and Q.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
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https://dl.doubtnut.com/l/_vxU8bsLHA8KZ

Prove that

segment PQ is a diameter of the circle.
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o Watch Video Solution

2.In the figure, two circles intersect each other

in points P and Q. If tangent from point R


https://dl.doubtnut.com/l/_vxU8bsLHA8KZ
https://dl.doubtnut.com/l/_3B4XbcFRJrwd

touch the circles at S and T, then prove that

RS=RT.

o Watch Video Solution

Practice Set 3 1


https://dl.doubtnut.com/l/_3B4XbcFRJrwd

1. In the adjoining figure, the radius of a circle
with centre C is 6cm,

line AB is a tangent at A. Answer the following
question

(i) What is the measure of ZC AB? Why?

(i) What is the distance of point C from line
AB? Why?

(iii) d(A,B)=6cm, find d(B,C).


https://dl.doubtnut.com/l/_T0P0mmlXG2Ov

(iv) What is the measure of ZABC ? Why?

A B

o Watch Video Solution

2. What is the distance between two parallel
tangents of a circle having radius 4.5 cm.

Justify your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_T0P0mmlXG2Ov
https://dl.doubtnut.com/l/_BhlGlvEZUrmL

Practice Set 3 2

1. Two circles having radii 3.5 cm and 4.8 cm
touch each other internallyFind the distance

between their centres.

o Watch Video Solution



https://dl.doubtnut.com/l/_OdxMisyLHHU3

2. Two circles of radii 5.5cm and 4.2cm touch
each other externally.

Find the distance between their centres.

o Watch Video Solution

3. Two circles of radii 5.5 cm and 3.3 cm

respectively touch each otherWhat is the


https://dl.doubtnut.com/l/_BC3J1VrsxawC
https://dl.doubtnut.com/l/_EGWv28ScN8PS

distance between their centres?

° Watch Video Solution

4. As shown in the adjoining figure , two circles
centred

at A and B are touching at C. Line passing
through C

intersects the two circles at M and N

respectively.


https://dl.doubtnut.com/l/_EGWv28ScN8PS
https://dl.doubtnut.com/l/_UjAxjemfOfcv

Show that seg AM ||seg BN.
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o Watch Video Solution

Practice Set 3 3

1.In the adjoining figure, M is the centre of the

circle and seg AB is a diameter. Seg MS |


https://dl.doubtnut.com/l/_UjAxjemfOfcv
https://dl.doubtnut.com/l/_9IUvztfSvlv0

chord AD, seg MT |  chord
/DAB =~ /CAB.

Prove that : chord AD = chord AC.
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o Watch Video Solution



https://dl.doubtnut.com/l/_9IUvztfSvlv0

Practice Set 3 4

1. The radius of a circle is 9cm. Find the length
of an arc of the ciircle which cuts off a chord

of length equal to radius.

o Watch Video Solution

2. In a «cyclic quadrilateral ABCD,
/B = (5z + 40)° and
/D = (8z + 23)°, then find the measures of

/B and ZD.


https://dl.doubtnut.com/l/_d04X7mnBghFv
https://dl.doubtnut.com/l/_uPsWc18Z408h

° Watch Video Solution

3. Prove that any rectangle is a cyclic

quadrilateral.
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° Watch Video Solution



https://dl.doubtnut.com/l/_uPsWc18Z408h
https://dl.doubtnut.com/l/_iJicbwvRpIaa

Problem Set 3

1. Two circles of radii 5.5 cm and 3.3 cm

respectively touch each otherWhat is the

distance between their centres?

A .44 cm

B.8.8 cm

C.2.2cm

D.88 or 2.2cm

Answer: D



https://dl.doubtnut.com/l/_q1cRJP0HIDKS

\ o Watch Video Solution

2. Two circles intersect each other such that

each circles pass through the centre of the

other.If the distance between their centres is

12,what is the radius of each circle?

A.6cm

B.12 cm

C.24 cm

D. con't say


https://dl.doubtnut.com/l/_q1cRJP0HIDKS
https://dl.doubtnut.com/l/_TTDprUL0JYbm

Answer: B

o Watch Video Solution

3. A circle touches all sides of a

parallelogram.so the parallelogram must be a

A. rectangle

B. rhombus

C.square

D. trapezium


https://dl.doubtnut.com/l/_TTDprUL0JYbm
https://dl.doubtnut.com/l/_OUxW9ak0Onb8

Answer: B

o Watch Video Solution

4. Length of a tangent segment drawn from a
point which is at
a distnace 12.5 cm from the centre of a circle is
12cm , find the diameter of the circle.

A.25 cm

B.24 cm

C.7cm


https://dl.doubtnut.com/l/_OUxW9ak0Onb8
https://dl.doubtnut.com/l/_gRnWfk95BW0a

D. 14 cm

Answer: C

o Watch Video Solution

5. If two circles are touching externallyhow
many common tangents of them can be

drawn?

A. One

B. Two


https://dl.doubtnut.com/l/_gRnWfk95BW0a
https://dl.doubtnut.com/l/_jsde93qY7L26

C.Three

D. Four

Answer: B

° Watch Video Solution

6. Z/ACB is inscribed in arc ACB of a circle

with centre OIf ZACB = 65° find m(arc ACB)

A.65°

B.130°


https://dl.doubtnut.com/l/_jsde93qY7L26
https://dl.doubtnut.com/l/_l1HrX6YBi4Bj

C.295°

D. 230°

Answer: D

O Watch Video Solution

7.Chords AB and CD of a circle intersect inside
the circle at point E. If AE=5.6, EB=10, CE=8, find

ED. a)7 b)8 ¢)11.2 d)9

A7


https://dl.doubtnut.com/l/_l1HrX6YBi4Bj
https://dl.doubtnut.com/l/_vFcetvr2Z2Fr

B.8

C.11.2

D.9

Answer: A

o Watch Video Solution

8.In a cyclic L1 ABCD, twice the measure of
/A is thrice the measure of ZC. Find the

measure of ZC a)36° b)72° ¢)90° d)108°


https://dl.doubtnut.com/l/_vFcetvr2Z2Fr
https://dl.doubtnut.com/l/_aAogIhcvo2VN

A.36

B.72

C.90

D. 108

Answer: B

o Watch Video Solution

9. Points AB,C are on circle, such that
m(arcAB) = m(arcBC) = 120°. No point,

except point B, is common to the arcs. What is


https://dl.doubtnut.com/l/_aAogIhcvo2VN
https://dl.doubtnut.com/l/_ZKQmYr2ws19q

the type of A ABC? a)Equilateral triangle

b)Scalene triangle c)Right angled triangle

d)Isosceles triangle

A. Equilateral triangle

B. Scalene triangle

C. Right angled triangle

D. Isosceles triangle

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZKQmYr2ws19q
https://dl.doubtnut.com/l/_z3U6V2m7wsmo

10. Seg XZ is a diameter of a circle. Point Y lies
in its interor. How many

of the followint statements are true?

(1) It is a not possible that /XY Z is an acute
angle.

(2) £XY Z can't be aright angle

(3) ZXY Z is an obtuse angle.

(4) Can't make a dfinite statement for measure

of /XY Z

A.Only one

B. Only two


https://dl.doubtnut.com/l/_z3U6V2m7wsmo

C. Only three

D. All

Answer: C

° Watch Video Solution

11. Two circles intersect each other such that
each circles pass through the centre of the
other.If the distance between their centres is

12,what is the radius of each circle?

o Watch Video Solution



https://dl.doubtnut.com/l/_z3U6V2m7wsmo
https://dl.doubtnut.com/l/_OX8Dgb4ZVweB

12. Prove that any three points on a circle

cannot be collinear.

° Watch Video Solution

13. In the adjoining figure, If AB=4.2, BC=54,

AE=12, then find AD.


https://dl.doubtnut.com/l/_OX8Dgb4ZVweB
https://dl.doubtnut.com/l/_FQCHdambZa8T
https://dl.doubtnut.com/l/_Nn95ZmhCEVCL

o Watch Video Solution
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